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You have been called for the written test based on the online data furnished by you in the web application. If you have

wrongly entered any information in the web or you do not possess the required qualification as per our advertisement

your candidature will be rejected.
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You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
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The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.
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A separate OMR answer sheet with duplicate will be provided to mark the answer options.

= mma%ﬁvmﬁaﬁsﬂwmmmmwﬁmme

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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T
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13,

14.

15:

SR a1t Ft 3 ARG seer-qfea Aol @iz (@), SR Seav IRede o e T 9

o =gy
Question booklet series code (AIBICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

TR FEcTehT 3 T A1 T Sl Tl ford |

Enter your Name and Roll Number correctly in the question booklet.

mmm.g@wﬁmqﬁﬁmmmmm‘mmﬁwaﬁmm|
All entries in the OMR answer sheet should be with blue/black ball point pen only.

Wﬁmaﬁﬁa@ﬁ%mﬁmaﬁﬁﬁaﬁ#%wmmﬂmml

The questions will be objective type with four options out of which only one will be unambiguously correct.

TR, SeeR-GeaHT 7 BT 7T Iegeril F IER, Areli/aprel TITEY & siet THE Iof F FNTHIN Ieaii-
qfecT & Hefa 3ifaer #r 3R T T Seal I T FIAT ¢

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

Teh 927 & ToIT 374 3l 3Teld AT ST |

Multiple answers for a question will be regarded as wrong answer.

TeaTe Bl & 3T F LG I f, UT5d-
b, Al RIGKa et

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

et ot 81 O, MMm-gﬁaﬁrﬁm#mﬁﬁﬁwéaﬂwaﬁrmmmﬂm
fordraTen st Hid e gEdt wiy ek o W |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

yrReT-gfeerenr 3rreff 31y o T FHA £

The question booklet can be retained by the candidates.

e & T B 3 ST 3t Y e g aise 1 AT el ¢

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TN — ff Tt gaTers — ITTRTOT HA%farw (1297)/Technician — B Chemical Operator —
Maintenance Mechanic (1297)

gEiEF!T $I HYcFeT oRPTd AFAT AT §/The following is indirect cost of accident
(a) AMAF H ITAR & T ggca AfA/Money paid for treatment of worker

(b). HTHS T Yeod &Tﬁq‘ﬁ/Compensation paid to worker

(c) EIS #{AF F IAIT T AT FI ATA/Cost of lost time of injured worker
(d) 39geFd @Al of the above

Wi ——— 3Raa & IR ARRF ¥ F g@ay a7 e &
Above —————— dB the sound becomes physically painful

(@& 60 (b) 40

(© 70 : (d) 80

qray &l Ty, 3TS. Ilﬁ?:?—-h—%ﬁhe S.I. unit of power is

(a) gelI/Henry (b) FHeATA/Coulomb

(c) dTe/Watt (d) dre-"cl/Watt-hour

ﬁ@ﬁ%ﬂmjﬁmmaﬁ——mﬁl

An instrument which detects electric current is known as

(a) dlecHTA/Voltmeter , (b) URTAIFH/Rheostat

(c) dEHRIYWattmeter (d) A/ Galvanometer

Teh @FATFT (1 TId) ——— & TATA 8/One Horse Power (1 HP) is equal to?
(a) 845 aATETW (b) 546 AW

(c) 764 daE/W (d) 746d1C/W

T Y55 F GUICAT AT Fodeldl H THETT —— F T &

Testing flatness or straightness of a surface is possible using

(a) alTa &9 Vernier caliper (b) FEHATI/Micrometer

(c) ¥FTad: FATGRF/Autocollimator (d) T gHAL of these
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10.

)

UF Gerd @ AT Y A &R AT S
Resistance to fatigue of a material is measured by

(a) carar H@W/Poissons ratio (b) T _QfFHTfEndurance Limit
(c) I HIYTEH/Youngs Modulus (d) FHORAT FE&IT/Hardness number
@, TAIRR, A, HUSHaT qU NI ————— § T S

Chalk, limestone, marble, eggshells and seashells are made from

(a) ShicaITH gISgedss/Calcium hydroxide
(b) FHfeays fFarEs/Calcium oxide

(¢) HfeHaH FEfAc/Calcium carbonate

(@) HETIF FARSS/Calcium chloride

I — & FROT FUIST &/Gases are compressible because of
(@) U & ST H I9Tg/Space between particles

(b) U & HEES/Collision of particles

(c) U & Tdelsl/Movement of particles

(d) Uil Fr MUY ST Fel/Forces of attraction between particles

Prefafld # & T FoR @y Fe-ar 2

Which of the following is hardest known material?

(@) AT Fa158/Cemented carbide

(b) TERFAF/Ceramics

(c) HeT SRIF N3erss (HIEITaT)/Cubic boron nitride (CBN)
(d) &RI/Diamond

g Fust & PeaRd & A Bt & g fRar s e
Gears are used to do the following for rotating shafts:

(@ I dgei/Increase speed

(b) I A FA/Decrease speed

(c) oI &I &= FE=/Change direction of rotation
(d) ¥ WALl of these
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12

13.

14.

15;

16.

BRT 308 #, Jearids Rie s ———— &gl Sl g

In Fourier’s law, the proportionality constant is called the

(a) FSHGIOT T{IUTiTﬁ/Heat transfer co-efficient

(b) FSART FERoTeNeral/Thermal diffusivity

(c) FSHIT drefehdl/Thermal conductivity

(d) THA-STooTATA [ERTF/Stefan-Boltzman constant

ﬁmﬁf@a#mwwaﬁw%ﬁ#

Which of the following has the lowest overall heat transfer co-efficient?

(@) Jfeid @If3TA/Molten sodium (b) 3IFAA/Dowtherm
(c) STel/Water : (d) arg/Air
fafeor scamard &1 7 Rgid ——— ) 3maia 2

Working principle of radiation pyrometer is based on the

(2) @M% AgaA/Kirchoffs law

(b) AT I/ Wien's law

(c) TCHA-dleatdATT [@Td/Stefan-Boltzman law
(d) Hre® gHTE/Secbeck effect

YaTg FRIYA & [0 ——— P/ Fadl 1 39T fohar Sirar e S &
The devices used for flow obstruction is/are

(@) 3TRTT TaIe/Orifice plate (b) argﬂ ell/Venturi tube

(c) 9arg AreTa/Flow nozzle (d) I THI/Al of these

UaTgHATdT T Jdleled —— O 3TTRA o/The operation of a rotameter is based on

(a) TWEET & H‘:Uiﬂ'lRotation of a turbine

(b) YRadl ¥aTg &3/ Variable flow area

(c) ST & &I &1 UTd/Pressure drop across a nozzle
(d) 9Tl ﬁg 9 qTd/Pressure at a stagnation point
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17. PR & ¥ #a g8 a9 A 3uER0T § O, 39 9] B g H ST ol
fSreeT #ATT forr o T &2

Which of the following temperature measuring instruments need not touch the object whose

temperature is being measured?

(2) TIfPToT3TaREd 3cargATdI/Radiation/infrared pyrometer
(b) T JTATY H YRG/Mercury in glass thermometer

(c) HRT YUl arqATd/Filled system thermometer

(d) dmu faag?r IcargATdl/ Thermo electric pyrometer

1. wnaﬁaa#mﬁwq@%ma%mﬁﬁ%aaﬁﬁﬁﬁam%l

A machine that moves large amounts of compressible fluid with low increase in pressure

(a) SIIYBlower (b) 9Y/Pump
(c) HUISH/Compressor (d) Yd@l/Fan

19, ITOAE 3R RS WA F & #r ey “ufaed TE H UE a0 §, foraer
&

The relationship between temperature and relative humidity is an example of an "inverse

relationship” which means that:

() UH IRadr #F geldr & oRurEeasT gav aRadt 7 gekdr aRade geh
A decrease in one variable results in a decrease change in another variable

(b) UE uRkadl F gl g W g aRafdat # A5 aRade 7@ gl
If one variable decreases no changes occur in other variables

(© TF uRadi & 3fg @ W @ 3 gRafaar # & gfe qref
If one variable increases all other variables will also increase

@) T qRed F gRy e W gE oRad F wkd e

An increase in one variable is matched by a decrease in another variable
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20.

21

22.

28,

24.

25.

T#e=T T 9ar oeNU/Find the odd one out

(a) 3TMYFHAI/Absorptivity () 3cafSThdl/Emissivity

(c) 3T9adeTi/Refractive index (d) Wﬁﬂ}gﬁ Haeldi/Dielectric streﬁgth
UH HTHAT TaTeld & Fel 9e9are & AU wgefad ———— 3T ¢l

Total reflux in a distillation operation requires minimum

(a) ¥UAT HR/Condenser load (b) 9o FafdT HAR/Reboiler load

() Toel &I TEANumber of plates (d) I THVAL of these

ﬁ%ﬁaﬁ%ﬁvwﬁﬁwm%mm&ﬁ%a@@ﬂﬁwﬁaﬁ

LT B
Wood charcoal is used for decolouration of sugar, because it ———— the coloured materials.
(a) 3TTerW/Adsorbs (b) BTH/Reduces
(c) IATFHHIOT/Oxidises (@ gRafda/Converts
TF QAF0E F HUAT &7 G FI—— Sgd &/Number of vibrations in a second is
called
(@) TTa/pitch (b) 3Mgfcci/Frequency
(c) PIoTH/Amplitude (d) 3aFd &dfel/Infrasound
T el F —— I o7 ST SATAT 8/Concave lens is also known as
(@) HFAN SA=F/Converging lens (b)) 3NTATY A=/Diverging lens
(c) gierqor ﬁ'a-'ﬂ'!Dispersing lens (d) drele el=d/Conducting lens
gferier & ofFd e/ s ———— arr 3ifed TR ST g1
The power dissipated in a resistance is given by? _ ¥
(@ IV (b VIR
() IR (d) 3 |AIl of these
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26.

27.

28.

25,

fArafaf@a 7 fFEor &1 3eE0r Hila-ar &2

Which one of the following is an example of diffusion?

(@) STl FI FATHT g6 d1/Freezing water to form ice

(b) 37U FI Y@ FOR FLAT/Cooking a hard-boiled egg

() UH &9 A # g AEAV/Adding milk to a cup of coffee
(d) U sherer # ”eT gahen/Cooking chips in a deep fat fryer

deg RS S ———— & FA H deal H g gl
The electrochemical series is a list of elements in order of their

(a) HAES FolagIg [a97a/Standard electrode potentials

(b) 3T GTIHT & TY IAfATHIAVReactivity with other metals
(¢) fAfafer #f@ar # FAi/Position in the activity series

(d) 3Tad RO & TTT/Position in the Periodic Table

UF GIATY] & gelel hl TEAT H ATGH el & o0 g ——— g1 glar =g
To find out number of neutrons in an atom, we need to know the

(a) THAIUgH Q-T'@T/Atomi_c number (b) IeleT T&AT/Proton number

(c) EeleFgieT HEAElectron number (d) TTATT TEGT/Mass number

FrTaf@a ar suat i qfU/Read the following 2 statements.
1. UTHAIMUTE, T foheltars faeras & el faerT o e srop3it & dear g

Molality is the number of moles of solute dissolved in one kilogram of solvent.

2. AU, Teh i} [oda & faelle faeg & e sopsit 61 T gl

Molarity is the number of moles of a solute dissolved in a litre of solution

TS 3o ﬂﬁ'@/Choose the correct answer
(a) Gl HUT ITad &/Both the statements are false
(b) HYT 1 TG & 3R FUT 2 ITd/Statement 1 is correct, Statement 2 is false
() HYT 2 TE & 3R HUT 1 ITeId /Statement 2 is correct, Statement 1 is false
(d) ST T TEr §/Both the statements are true
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30.

31.

32,

33.

IGCIGECIREE] H, qerT— UT 39ddT &/In vacuum distillation, substance boils at
(a) 39F JATHTT FaYsIiah/Its normal boiling point

(b) SHEHTAHAY FqUATh T $S IR & dIHGT
Temperature slightly above its normal boiling point
(c) SUPTHHAGCTFIUAR A Ald o dTIHLT
A temperatﬁre below its normal boiling point

(d) 3=d cld/Under high pressures

T FHETIIA g AT AT H gy —————— g1 AT
In an assembly and machine shop, fixture does not

(@) I AU Fl A& Ihsdl/Hold the work piece

(b) P 1T T Tdl/Locate the work piece

(¢) 3R Fr FERN/Guide the tool

(d) 3'CI'{§33'?I' FH/Al of the above

g% deol/Lubricating oil

(a) oI t_I:Gﬁ F &RUT FT FH FIA! o/Minimizes wear in moving parts

(b) %Gﬁ' # MNTT WA F TERIAT UGTT Il g/Helps in keeping the parts cool
(c) &3 FI O 3refar § AR @ o SATr ©/Washes away and carries away dirt
(d) 39deFd @A of the above

S a1fd & sga sarer wekd AR AfFT 7 gfe we F SR @l &, 79
Rt &1 39T fovar arer § |

gears are used when large speed reductions and power increases are necessary.

»

(a) ©ISS&H/Spur (b) TH/Worm
(c) ®del/Bevel (d) Y&F/Rack

0 1297/16



34.

33.

36.

37

38.

AT diesdT # 3—13'5‘?-1?{ WAl STE M &/In fusion welding, penetration is the
ratio of
(a) de3 Fr diES Y ITH TGS/ Width of the weld to its depth
(b) 9o HI TS T ITHT TES/Length of the weld to its depth
() a3 T TEUS A 3TH AISS/Depth of the weld to its width
(d) doz & TRUS ¥ 3TH eiars/Depth of the weld to its length
AT Arehal F fow 'ﬂ;ﬁf————%ﬂjmt for thermal conductivity
(a JkgK : (b) J/molK
(¢) J.ohm/sec.K® (d WmK
Pl TH Tl ﬁﬂgﬁffﬁﬁ § Tl IHH —— B/Cork is a good insulator because it
has
(@) Fd Zelaela/Free electrons
(b) URHATOaH Hogel 37 cc/Atoms colliding frequency
(c) | TWS/Porous body
(d) & GVAI of these
IRE 1 e o ———— &, o FROT ag FT A Fefed Aol B
The fluid property, due to which, mercury does not wet the glass is
(a) Yeicd/Density (b) A/ Viscosity
(c) YS&F deird/Surface Tension (@) e arDiffusivity
AT — Y A & fIU gAeT AT ST 3/Anemometer is used to
measure
(@) M/ Velocity (b) &Ta/Pressure
(c) 2T/ Viscosity (d) Helcd/Density
10 1297/16



39.

40.

41.

42.

43,

FAA & T A 90T & 3reads & [0 ———— &1 39T & Srar g

For studying detailed variations with time, one uses:

(a) .ﬂﬂfﬁ?ﬂndicator OIREERG] Wjﬁmigital indicator
(c) TFTSYURecorder (d)y HHATHIHR/Integrator

HMAfETF AT AT & 3UROT H —— Fgd B

Instruments that measure relative humidity are called:

(a) QTICITATI/Barometers (b)  3IEarATd/Hygrometers

(c) BIS3IHICYHydrometers (d) STereRi/Hydroscopes

HYehal 94T H #leteT ¥ §9 & [WIn order to avoid cavitation in centrifugal pumps

(a) T &I 3178 8T a1f@T/The delivery pressure should be high
(b) NI &9 A BT TfeT/The suction pressure should be low

(c) VYT &I 3T¥eh gl AIfET/The suction pressure should be high
(d) IGEACACEC T E’I?-lT ﬂf&ﬂfﬂ" he delivery pressure should be low

TZ-TOT TR H HRRMcTeled ——— & Forw R S &
Intercooling in multi-stage compressors is done

(2) o WO & NS HHT F=1/To enable compression in two stages

(b) TUET & =T ag &I efider FTA/To cool the air during compression
(c) =& # ag &I el HTeA/To cool the air at delivery

(d) TfET & ET F#H F¥e1/To minimise the work of compression

HeRd e f9ar fFg TRs § I &7 “War &1 goar &2

From what depth is it possible to "suck" water without causing cavitation?

(@ 100 HEY/100 m (b) 39.3HITY39.3m
() 33.9#HE339m (d) 33.9%c/339f

11 1297/16



44,

45.

46.

47.

STel T Uedsh AH ST aIfSad g §, 30T WY FomhT Rt a[od FSAT Sl & Sirar

&2
Each gram of water that evaporates carries with it approximately how many calories of latent heat.
(a) 200 (b) 540

() 600 (d) 800

faTa & 3refier araet AT ———— & AT B S B

Drying operation under vacuum is carried out to

(@) IS 3R 7 arer gerdf & e
Dry those materials which have very high unbound moisture content
(b) [SHA AT FN HH F
Reduce drying temperatm;é
(©) YeheT A9 H g =
Increase drying temperature
() 3=T gReg A arel gerdf & e

Dry materials having high bound moisture content

frfafad # &8 aifie garee & w9 7 aeffea a8 fear amr &2

Which of the following is not categorized as a “mechanical operation”?

(a) W&H=T/Agitation (b) 3TATT FGe=/Size enlargement

(c) T Filtration (d) 3TEU/Humidification

T JeFod — 9 yaTfed gIdT §/An autoclave operates at

() IFHSE Te/Atmospheric pressure
(b) HI"'_ZI_,H?E?I'J G ¥ FYT/above atmospheric pressure
() TIHS &F ¥ sMAbelow atmospheric pressure

(d) Ffad AIEor & @ agHST ara/Atmospheric pressure with automatic control

12
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48.

49.

50.

51.

TS FCATEIY! I TeAeh ATARAT # 3cure T Jelem & ifafhasd #— 3

In an exothermic chemical reaction, the reactants compared to the products have
(a) AT Fail/Same energy (b) 3A®F F=T/More energy

(c) 3=UdY d/Higher temperature (d) HH Foll/Less energy

3ARET H ael Uhe ool & & AlGeT FHAT T FhaT § FAifR

Only rocket engines can be propelled to space because

(a) T sGlFf ICIE GG %‘a?-ﬁ' H FTH F T o/These engines can work on several fuels
(b) I AHIT 3T YUNG FT SefeT T Fohl o/They can generate very high thrust

(¢) BT 3T Al gaTdm %ﬂhey have high propulsion efficiency

d = arg-qHeT g31eT 76l &/They are not air-breathing engines

AP ol Faf@s—— E/Fire tube boilers are

(@) 37d: SaTfeld/Internally fired

(b) STETd: SATfeId/Externally fired

(¢) 3ic: JUTIEga: ﬁ'l‘l%l?ﬂntemally as well as externally fired
(d) ZIH A IS Tei/None of these

9 SARET & gUle FRAT FIF ————— FT IO 38T ¢

A shaft rotating in a bushed bearing is good example of

(a) |YOT fhe/Sliding fit (b) &rEr fhe/Running fit

(c) HY fhe/Push fit (d) 9RETe fe/Driving fit

13 1297/16



92:

53

54.

Fdd WA # Refai@a & @ 8 e aar § arfes s gres 2 e g =™y gr
TR & 397 & €T T g oA 3cde giar 82

Which of the following is added to the cutting fluids so that soapy film is produced between the

work piece and tool and chip and tool face?
(a) He™Y/Sulphur (b) FARIA/Chlorine
(¢) (2) T (b) G=AI/Both (a) and (b) (d) STH § HIS Aei/None of the these

wﬁaﬁ%ﬁﬁgﬁamﬁ%ﬁvaﬁmmﬁmmm

In this figure how much weight is needed to put at B to balance the beam

500gm ?
< ' 15 cm ol
Y 1
A F B
N 9cm 2
(@) 720 ATH/720 gm ' (b) 750 3MH/T750 gm
() 1225 qTH/1225 gm - (@) 270 TTH/270 gm

A U 3e7aR, UPmR A, aRuy # arr 1 gar S (100 30 & 2 4., 50 3 H
14.)

Find the current in the circuit as shown below (2 nos. of 100 ohms, 1 no. of 50 ohms) in Amperes

(@ 05 (b) 04
() 033 (dy 025
] 100 Ohm

50 Ohm

14 ; 1297/16



35

56.

7.

58.

AT Aeded o Fel FTaeT AT &/What is the total resistance of the network below?

iZQ e
1
6Q 18 0 '
s BN N oy
(@ 16Q b 18Q
© 24Q @ 720

3R 20.0 Felrll HIF H AT & T F FIAARS HAT ST, @ Sl FEAT ThckaTl &2
(AT o T ART A 30 7 TIAaRT HAT I/ §)

If 20.0 calories of work is transferred as heat, how many Joules of heat are there? (assume all work

is transferred as heat)

(a) 83.67
(b) 8521
) 487

(d) FF 3R ISAT T G A6 FAT ST FHAVWork and heat cannot be related

519 U faegd 87 & & Rgait & fT 7 Hoiw e H e S g, d 227 I
o STar 1 & Rt & &g & ReraicR &1 aRebelT HfST|

When 7 Coloumbs of charge are moved between two points in an electric field 22 J of work are
done. Calculate the potential difference between the two points.

(@ 154V b) 3.1V
() 033V @ 15V

Y rEETY FHET RUT FT TR 12 30 & 3R T A & Iiekig 18 HA &,
ot qER T SRR Rece ¥ |

The resistance of a parallel circuit consisting of two branches is 12 ohms. If the resistance of one

branch is 18 ohms, what is the resistance of the other? x
(a) 18 (b) 36
(c) 48 (d o4
15 1297/16



39.

60.

6l.

62.

R 5x 107 m’® 87 &1 1 AR oy T G’ FT 10kN 5T ¥ 1 . g3 ag
foar Srar & ar arR @ 99 A fhaer e

If a 1 m long steel wire having area 5 x 107 m? is stretched through 1 mm by force of 10 kN, then
Young modulus of wire is

(@ 2x10"Nm™ ®) 2x10"Nm?2
() 4x10"Nm™> (d 5x10"Nm?

fFrfefaa R & R sameg sf@fhs R T aer—— 8

The value of Normal reaction (R) for the following figure is
ol
>
O N TS SN e N s AT S S O O % e,

F = MR i R

(a) W—P Sind (b) W+P Coso
(c) P—W Sin6 . (d P+WSind

/P

UG W T GedHART F AR 100 N ¥ FHHT R T W faraarr g
A mass weighs 100 N on moon. What would be the weight on earth?

(@ 100N (b) 106 N
() 400N (d 600N

m#wmmmﬁwmmﬁ4m/szm?riraﬁ?rﬁm%lz.sm
& 91 5aHT A fraelr et

A car initially at rest accelerates uniformly in a straight line at 4 m/s?. What will be its speed after

w

2.5 seconds?

(@ 10m/s ' (b) S5mss
() 6.5m/s _ ‘ (d 12.5m/s

16 1297/16



63.

64.

65.

66.

AT H 12.6 M TIEITSH 398 &1 3.00 M TIHTST &7 5.00 el 9 & fore fras o7

A HTLTFAT &0 BT F 3TaeT F IREST BT AR 7

12.6 M HCl is available in the lab. How much water is needed to prepare 5.00 litres of 3.00 M HCI?
Neglect volume change in mixing

(@ 1.19@e¥/1.19L (b) 3.81%eI/3.81L
() 1.8¢I1.8L (d 3.2°32L

ﬁ#mmmwmmmaﬂzzowqﬁﬁaﬂt%lai‘am?ﬁﬁrﬁr.%l

Find rpm of the spindle when the cutting speed is 220 m/min. The job diameter is 7 mm

(a) 10,000 ~(b) 22,000
) 15,000 : (d) 31,400

20 TAAL. FEE & Hg TEAC AT H B I & fow 20 A s fr v wdeeh
foe St 02 e iy goie & sRoT &@X @ 500 pm W g AT ¥, FT ITET BT SR
&1 &kl I IEE ——— B

A drill bit of 20 mm diameter rotating at 500 rpm with a feed rate of 0.2 mm/revolution is used to

- drill a through hole in Mild Steel plate of 20 mm thickness. The depth of cut is

(@ 100 FA.FHT./100 mm (b) 20 F.AL20 mm

(c) 10 AA/10 mm (@ 0.2 /02mm

12 gid & Ty 70 A, saw fr e AR saa 22 ;e 9fd Bae sd=7 39 31K 0.05
A 9T & ROT & @Y I W 8l W1 X 9 e ——

A milling cutter of 70 mm diameter with 12 teeth is operating at a cutting speed of 22 m/min. and a
feed of 0.05 mm/tooth. The feed rate per minute is

(a) 110 B #1./fAe/110 mm/min. () 35 A /AFe/35 mm/min.
(©) 6/ Ae/6 mm/min. (d) - 60 TH.7T./fMA=Te/60 mm/min.
17 1297/16
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68.

69.

70.

T W FEAS TUT FRIEIC il Uk A gl

Temperature at which both Centigrade & Fahrenheit are the same

(@ -32 (b) 32
() —40 (@ 40

30°c$200wmaﬁa@ﬁ§aﬁumwso=ca$mﬁama‘»ﬁmaamwmaﬁr
AT &7 kI 7 9RedsT Hifaw)

Calculate the amount of heat in kJ required to heat 200 g water at 30°C to 80°C at atmospheric

pressure.
(@ 10kJ (b) 42KJ
© 50kJ ‘ d) 2445k

Ush gd T 1fds =T 1.2 x 107 Ns/m?, SafF 38T gelcd 600 kg/m® &1 m%s &

eafad eaetar ——— 2
The dynamic viscosity of a liquid is 1.2 x 107* Ns/m?, whereas, the density is 600 kg/m’. The

kinematic viscosity in m*/s is

@ =107 (b) 20x10°
€y 72x=10? (d 70 x 10°

Teh IR TIOT FUisdh F, TUH 3T I8y ToT H &9 1 bar 3R 16 bar &, aF Y =or &
[GE 0] A — |

In a four stage compressor, if the pressures at the first and third stage are 1 bar and 16 bar, then the

delivery pressure at the fourth stage will be

(@ 16 bar (b) 1bar
(c) 64 bar (d) 256 bar

18 1297/16



71.

12,

73

74.

75.

U Fafdd 7 i 6 # Ad $ROT Sief 205 FraRmA § o6l 9id g9¢ 7 sarfed
P 23 Thellamd 1 STel &l A Tded gy 145 k) 1 3R Fd H HFAiRfd 7o

2050 kl/kg & o Faf¥T Fr g@Tar ——— g1l

In a boiler, feed water supplied per hour is 205 kg while coal fired per hour is 23 kg. The net
enthalpy rise per kg of water is 145 kJ. If the calorific valve of the coal is 2050 kJ/kg, then the
boiler efficiency will be

@ 56% (b) 63%
© 78% @ 74%

11.5 I WSTH A Fohefar a1 3707 AT 82 Na T I WAV geddAq 23 qH
gl

How many moles are present in 11.5 g of sodium? Gram atomic mass of Na = 23g

@@ 2.0 b 0.5

(c) 3.012x10% (d) 6.023 x 107

916 AT — %/916 gold is

(a) 18 /18 carat | (b)) 20 %T2/20 carat
(©) 22 HT2/22 carat (d) 24224 carat
WIEeH (A) ——— B/Angstrom (&) is

(@ 10°#/10°m () 10°%#H/10%m
(© 107°#FHN10"m (d 102 #A/10m

8% SITeT 3 Th HIEISH BleT S &dT IRT g1 3R 3HAT ARTA-HIAT Rs. 2,500 §, a7 3T

fashr-draa fraetr &2

A mobile phone is sold for 8% profit. If its cost price is Rs. 2,500, what is its sale price?
(a) Rs.2,750 (b) Rs. 3,000

(¢) Rs.2,300 , (d) Rs.2,700
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68.

69.

qumﬁ% % 93 & ger o ¥ MY e &7 W

Temperature at which both Centi% P

e
(a) =32
(c) —40 kg% %.%
% % & 154 sq. m

5, @
2. Y
Y e % & "sq.m
%D 3
30°C & 200 31H el ‘<%
% 2
AT & kI F O "% e 5’%;
, &
&
Calculate the ar ©

pressure. 9‘%
(a) 10kJ #
(©) 507 g : 1.3)(0.2) (0.3) is

2

"ow much area the cow can graze?

il
(d 7.08
us ,
.cﬁma¥3?ﬁﬁ63®$§| 3 ¥ ggor [ar &1 37 9
of 38 fFaeT 82
. is 6 more than 3 times age of his son at present. 3 years before, father’s age was 5
. of the son. What is son’s age?
.9 au/9 years b)) 6 au/6 years
(c) 12@V/12 years (d) 33 T9/33 years

1 A o
80. geT hifoTw/Solve: e 2 % e
23 16
® i
25 19
(e e @ 5

20

1297/16



